World-class Comprehensive Computer Course

Question Paper

Set- |
Std. — 10" EM
Subject — Geography

Courses

Gateway to Knowledge Lit Careers

Time : 2 Hrs. Marks : 40
Q.1 Choose the correct alternative and write the complete statement. 4
1)  Inmost parts of the .......... region, it rains through out the year.
a) temperate b) tropical c) grasslands d) equatorial
2) Indiais located in the......... part of the Asian continent.
a) southern b) northern  c) northeastern d) western
3)  Nucleated settlements are found in the........ plateau.
a)Vindhya b) Meghalaya c) Malwa d) Chhota Nagpur
4)  The football stadium at ..... is quite well known.
a) Rio de Janeiro b) Manaus c) Sao Paulo  d) Boa Vista
Q.2 Match the following. 4
Column ‘A’ Column ‘B’
1)  The Bundelkhand Plateau a) Pau Brasil
2)  Evergreen Forests b) Goa
3) Coastal Forests c) Uttar Pradesh
4)  Most ubrbanised State d) Sao Paulo
e) Malabar coast, India
Q.3 Answer in one sentences each. (Any Four) 4
1)  In which hemispheres does India lie?
2)  Where is the source of Amazon river?
3)  What is Natural Vegetation?
4)  What is the per capita income of India in 2016?
5)  What attracts foreign tourist to India?
Q.4 A) Show the following in the outline map of India. Make proper index. (Any Four) 4
1)  Uttar Pradesh 2) Sunderbans 3) Mumbai
4) Kandala 5) Kanyakumari 6) Hot Dessert
B) Obsirve the given map and answer the following questions. (Any Four) 4
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1)  What method has been used to show the distribution of population?
2)  How many people does one dot represent?
3) In which area is population greatly concentrated?
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In which area is the distribution of population sparse?

What is the reason for higher population in Northern Eastern Brazil?

Why is Brasilia highly populated?

Give geographical reasons. (Any Two)

Wildlife in India is decreasing day by day.

As compared to Amazon pollution in river Ganga will affect human life.

Population is an important resource.

There is mixed economy in Brazil and India.

A) Use the table given below to draw a line graph and answer the following question. (use
roper scale)

Brazil percentage of urban population (1960 — 2010)
Year 1960 1970 1980 1990 2000
Percentage 47.1 56.8 66 74.6 81.5
What is the interval of the data?
In which period did urbanisation occur rapidly?
Write four sentences analysing the graph.

2010
84.6

OR -
B) Read the following graph and answer the questions. (Any three)
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What does this graph show?

What was number of females per male in Brazil in 19617

What is the sex ratio of India in year 2011?

In which year Brazil recorded a considerable increase in the female population?
During which year has been Brazil’s sex ratio been highest?

During which year has been India’s sex ratio been lowest?

Answer in detail. (Any two)

How are Brazil and India different from each other in terms of location ?

Why has mining not developed in the western part of Brazil ?

What items will you take with you for the field visit?



